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LI L P UL Vsvym_pc -0.4 0.4 Y
S R B i Y FE YR (Normall
mode), VCANH=- -100
5V~40V, CANL=open
— - los(ss_pom)
1 R B i H FE YR (Normall
mode), VCANH=-5V~4OV, 100 mA
CANL=open
Ke P % 2% 4 H L IR (Normal
mode),
I -5 5
Veus=Vcann=VcanL, OS(SS_REC)
-27V<VBUS< 32V
PR SERS (B 5 k), 1
e — t 100 160
%:ja‘rjﬁz{ﬂ‘ﬁulg 5 Fﬁ/j—\‘o PROP(LOOP1)
ns
PR SR (2R RRE), 11 ¢ 110 175
HIEMWE 5 frs. PROP(LOOP2)
Noraml to Standby #:1J] ¢ 9 45
e Isf (7] MODE
us
Tob Y1 i A S [ twk_FILTER 0.5 1.8
R IE JE R (B 3 21, ¢ 55 -
NGO E 3 Fix, PHR




% ERfSk=dn
=) ANSILIC ASM1402 #3EFA7

R.=60Q, CL=100pF,
CL(RXD)=15pF .
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TXD fault stuck dominant: example PCB Fault is repaired & transmission
y failure or bad software ¥ capability restored
TXD P —
. trxo_oto } Driver disabled freeing bus for other nodes
(driver)
i
7/
Normal CAN Bus would be “stuck dominant” blocking communication for the
communication whole network but TXD DTO prevents this and frees the bus for
l communication after the time trp_pro.
CAN
Bus —— trxp_pTor - -’./
Signal
Communication from Communication from
other bus node(s) T repaired node
rya
RXD i
(receiver)
Communication from Communication from Communication from
local node other bus node(s) repaired local node
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